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al01 B e E R EEE L YBIRLET . BR | £%ERE 25,962,437 M 24,071,072 M 25,962,437 B A 1891365 M @)
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co2ir® 4,938 kg—c 3,391 kg—c 4,938 kg—c A 1547 kg—c
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XEHMTEE £%EME([E TK:20328/kwh (T;H:91.7M/L LPG:514F/m AZE;H:80.3M/L ZA (H#KEE) :80M ke (HEEH. BHERE I—. TOUHRESEBEERS . CHRBREBLY)
MEFITTEE CO28EH{ZE EK:0.318kgC02/kwh KTiH1:2.49kgC0O2/L LPG:3.0kgCO2/m AZE;H:2.71kgC02/L ZH (H#K%E) :0.8kgC0O2/kg  (BiEE. BHEIRILE—tLa—LY)
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XEF2EE CO2HEHZRE TS :0.35kgC02/kwh KTiH:2.49kgC0O2/L LPG:3.0kgCO2/m AZE;H:2.71kgC02/L ZH (HH#KEE) :0.8kgC02/kg (BiEE . BHEIRILE—EL2—EY)



